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Potenzen 1./2. Bez 
 
 

 
 
 
Multiplikation: 10a · 10b  =  10a+b 

Beispiele: 103 · 109  = 1012 10-3 · 10-6  = 10-9 

 
 
Division: 10c : 10d  =  10c–d 

Beispiele: 103 : 102  = 10 103 : 10-5  = 108 

 10-6 : 103  = 10-9 10-3 : 10-7  = 104 

 
 
Potenzieren: (10x)y  =  10x·y 

Beispiele: (103)4  = 1012  (10-3)5  = 10-15 

 
 
 
Mit Variabeln 
 
a4  = a∙a∙a∙a ;   35 = 3∙3∙3∙3∙3  ;  42∙ 43 = 4∙4 ∙ 4∙4∙4 = 42+3 = 45 

56 : 54 =  (5∙5∙5∙5∙5∙5 ) : (5∙5∙5∙5) = !∙!∙!∙!∙!∙!
!∙!∙!∙!

 =5∙5 = 56-4 = 52 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  

ax · ay = ax+y a5 · a3 = a8 

ax : ay = ax-y a15 : a5 = a10 

(ax)y = ax·y (a5)3 = a15 

am ∙ an = am+n am : an = am-n 

5a5 ·y 3ab5 = 15a6b5 (3p3)5 = 3p3·3p3·3p3·3p3·3p3 = 243p15 

15x2y3 : 12xy = 1,25xy2 a3 ∙ a8 = a11 

a4 
Exponent oder Hochzahl 

Basis 


